the curve 3 = cosh™ x on the interval [1, ¢]. Find 5'(¢). SCORE: /3PTS
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Find the center of mass of the region between the curves ) = 2x* —7x and y=5x-2x
25t T]x = 5x-2x™
L) 2x =0 Fin
, it J—. 7 )
Ty (x-2> ) =0
¥ =03

A: SD (:5><'2><1'-“ (QXL-"»?x)) C:Jx = E;(ilzy~4x““> o\x

ZD((QX‘% %xf’.))j
5 (e 3(3— 180 5
% ( Bxflxlftlx":)x)\ Adx = "‘“

. 40
ST

\\

—L‘é\-—/’i}'
18 (log-81) =75

—

§= ) H(5x-2eY (2B Debx =

\

;@w)
= L (162-216) ="
CenTon. OF MASS = (%—_— ,,%)@

W

SCORE:

j (gx—-@ ) dx

/14 PTS




Find the length of the curve y = JIn(secx) + 4 In(cscx) SCORE: /8 PTS
between the points (%4, 3In2) and (%, In2 - +In3).
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The time needed for a certain search engine to respond to a request is a continuous random variable X SCORE: /8 PTS
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(in units of tenths of a second) with probability density function f(x) = { for some constant k .

Find the median response time.
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